22

26 5

69.2% H21 71.0 H26
19.1% H21 34.6 H26
30km 4 H21 7 H26
520km 3 H21 4 H26
2700 1 H21 3 H26
5 H21 7 H26
5 H26
22 14 H26
10 3 H21 10 H26
11 0 H21 10 H26
12 0 H21 H26
H22 H2 4 H26
H26
13,858ha 69. 2% 70.(3% r H2B%
3,422ha 19.1% 30.(7% B4. 6%
H20 30km
H20 520km
H20 2,700
107km
10
11
12
44,774 43,953 0 821 1.8%
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H22 Hp 3 H2 4 H2 b HY6
A-17]1 L=200m 396
A-1]2 L=210m j— 47
A-1]3 L=2,810m ; : 5456
A-1]a V=760m3 ——— 34
A-1]5 83y
A-1-[10 [r— 70
A-1-[11 14¢
A-1-[12 ®1000mm [— 7
A-1-13 — — 8
A-1-]15 L=380m — 95
A-1-|16 [r— fr— 15
A-1-|117 # 97
A-1-|18 p— 63
A-1-|19 M 6
A-1-]20 ] 9
A-1-|21 H 5
A-1-|22 | _ 1
A-1-|23 — 5
A-1-|24 L=3000 10
A-12s L=300 — 200
A-1-]26 L=700m p— 30
A-2]1 L=107m — 60
A-2]2 L=740m ——] 27}
A-2{3 300m3/ p——| 207)
A-2]4 L=490m ——] 104
A-2]5 V=5066m3 p—— f— 13}
A-21]s L=350m — 21§
A-2{7 L=200m — 127
A-2]8 69. 6m3/ — 146
A-2]9 L=284m — [ | — 56
A-2-[10 L=217m ———— ) 7 §
A-2-11 V=4908m3 — [ | [ | 115
A-2-[12 L=713m ————— G S |
A-2-13 L=310m — | p— 48
A-2-[14 139. 2m3/ ——— 6 b
A-2-|15 L=162m : 1756
A-2-[16 L=500m — —— 20}
A-2-17 280m3/ p—— 41p
A-2-18 L=100m — 9
A-2-19 ; : 74
A-2-]20 frm— rem— o 328
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321 — 10
3-122 [— 52
3 26 =100m — | — | 15
3-127 [— 69
3-128 =270m [— [E— 33
3-|29 ' 69
3-[30 —] 76
3-31 83
3-132 [— 6
3-/33 25
3 34 | 4
3-/36 L=3000m 21
3-137 L=250m — 2
3-138 L=250m — 2
3-139 L=2000m N— 50
3-140 50 — 50
3-141 50 — 50
441 =50m — 12
212 Z160m ———— ——— 42
443 140m3/ — 9
2] 2 V=5380m3 ————— 65
445 V=2700m3 94
446 L=990m [— 45
447 L=136m — 30
4418 L=288m [— 79
449 L=45m F— 78
4-]10 L=228m ——— 1
4-[11 L=119m r— 9
4|12 L=66m — — 73
4-113 3,0
214 L=3,370m —————————— 45
4-115 L=3,600m 1,0
4-116 V=2800m3 [— 42
4-117 L=150m 93
4-118 L=500m [— [E— 16
4-119 L=1, 790m 1, 8
2120 L=200m ————— p— 60
4-[21 L=130m [ | 77
422 L=900m ——— 5
4-123 L=966m 275%
424 1,1
4-25 239p
4 26 —— 27
EEY — [ v
428 e ——————— 40
4-129 L=725m — 40
D [-2340m ——— f— 1
R H : I 1 ] 5 3




A-4-]32 V=4,700m3 —— — 54
A-4-]33 L=1840m y | 74}
A-4-|34 L=690m — 19
A-4-35 L=1010m gab
A-4-[36 L=760m ——— ] 5
A-4-37 17}
A-4-[38 — 5
A-4-[39 p— 6
A-4-40 — 6
A-4-la1 79
A-4-[42 — 4
A-4-[43 p— 5
A-4-44 — 6
A-4-[45 f— 2
A-4-46 — 7
A-4-la7 250m3/ 20p
A-4-|4a8 520m —— 49
A-4-[a9 V=3800m3 23}
A-4-]50 100m (—— 87
A-4-51 50 L=2340m f— 79
A-4-]52 50 L=3000m — 79
A-4-53 L=1000m — 50
A-4-]54 35m — 25
A-5]1 L=15m — 22
A-5]2 L=10m — 6
A-5]4 42b
A-5]6 33k
A-5]8 165
A-5-[11 L=1200m 37
A-5-13 V=13500m3 ——— 0 | 1
A-5-]14 : ' ET)
A-5-15 —— 9
A-5-[16 14}
A-5-[17 — 6
A-5-18 — 4
A-5-19 — 5
A-5-[20 — 5
A-5-]21 L=500m — 2 5
A-5-22 L=300m — 20D
A-6]1 27
A-6]2 — 24
A-613 [ | 30
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H2 2 Hp 3 H2 4 H25 HZ6
0
H22 HP 3 H24 | H2b HY6
c-1 — 3
c-2 20ha — 1
C- 3 20ha — [— 22t
C- 4 584
Cc-5 — 5
c-6 20ha — 1
821
C_
CcC-2,[3,6
C- 4
C-5
H2 2 HP 3 H2 4 H2b HZ6
A’ 11- 14 149
A -3]-23 538
A -3]-24 2,080
A -3]-25 53
A -3]-35 L=2353m 15
A -3]-37 50
A’ 5]- 10 11
A" -5-12 L=400m 92
H2 2 H? 3 H2 4 H2b% HZ6
A" -3]-17 L=230m [— 150
A -4]-30 L=220m — 50
3,246
3,246 0 (C+C'" )/ ((A+A" ) +[(B+B' ) +(C+IL' 1%
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